
SAP ABAP table RECP_SF_DOC_A130 {Document: Master Data Summary (Bus. Entity)}

RECP_SF_DOC_A130

BUKRS [CHAR (4)]

PARTNER [CHAR (10)]

ROLE [CHAR (6)]

ADDRTYPE [CHAR (10)]

COMM_TYPE [CHAR (3)]

CPACT [CHAR (4)]

RECIPROLE [CHAR (6)]

RECIPSUBROLE [CHAR (4)]

FNAME [CHAR (15)]

SINSTBEZ_SP [NUMC (5)]

SSTDORT_SP [CHAR (10)]

SVERKEHR_SP [CHAR (1)]

SLAGEWE_SP [NUMC (4)]

SOBJLAGE_SP [NUMC (2)]

SMIETR_SP [CHAR (5)]

RLRA_SP [CHAR (6)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 RECP_SF_DOC_A130-PARTNER = BUT000-PARTNER 

0..N

{0,1}

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 RECP_SF_DOC_A130-BUKRS = T001-BUKRS 

0..N

{0,1}

TB003

CLIENT [CLNT (3)]

ROLE [CHAR (6)]

 RECP_SF_DOC_A130-RECIPROLE = TB003-ROLE 

0..N

{0,1}

 RECP_SF_DOC_A130-ROLE = TB003-ROLE 0..N

{0,1}

TB009

CLIENT [CLNT (3)]

ADR_KIND [CHAR (10)]

 RECP_SF_DOC_A130-ADDRTYPE = TB009-ADR_KIND 
0..N

{0,1}

TIV03

MANDT [CLNT (3)]

SMIETR [CHAR (5)]

 RECP_SF_DOC_A130-SMIETR_SP = TIV03-SMIETR 
0..N

{0,1}

TIV10

MANDT [CLNT (3)]

SLAGEWE [NUMC (4)]

 RECP_SF_DOC_A130-SLAGEWE_SP = TIV10-SLAGEWE 
0..N

{0,1}

TIV16

MANDT [CLNT (3)]

SINSTBEZ [NUMC (5)]

 RECP_SF_DOC_A130-SINSTBEZ_SP = TIV16-SINSTBEZ 
0..N

{0,1}

TIV35

MANDT [CLNT (3)]

SSTDORT [CHAR (10)]

 RECP_SF_DOC_A130-SSTDORT_SP = TIV35-SSTDORT 

0..N

{0,1}

TIV44

MANDT [CLNT (3)]

SVERKEHR [CHAR (1)]

 RECP_SF_DOC_A130-SVERKEHR_SP = TIV44-SVERKEHR 

0..N

{0,1}

TIV45

MANDT [CLNT (3)]

SOBJLAGE [NUMC (2)]

 RECP_SF_DOC_A130-SOBJLAGE_SP = TIV45-SOBJLAGE 

0..N

{0,1}

TIVAJRLRA

MANDT [CLNT (3)]

RLRA [CHAR (6)]

 RECP_SF_DOC_A130-RLRA_SP = TIVAJRLRA-RLRA 

0..N

{0,1}

TIVBPSUBROLE

MANDT [CLNT (3)]

ROLE [CHAR (6)]

SUBROLE [CHAR (4)]

 RECP_SF_DOC_A130-RECIPSUBROLE = TIVBPSUBROLE-SUBROLE 

0..N

{0,1}

TIVCPCT

MANDT [CLNT (3)]

CPACT [CHAR (4)]

 RECP_SF_DOC_A130-CPACT = TIVCPCT-CPACT 

0..N

{0,1}

TIVCPFM

MANDT [CLNT (3)]

FNAME [CHAR (15)]

 RECP_SF_DOC_A130-FNAME = TIVCPFM-FNAME 

0..N

{0,1}

TSAC

COMM_TYPE [CHAR (3)]

 RECP_SF_DOC_A130-COMM_TYPE = TSAC-COMM_TYPE 

0..N

{0,1}


